
SGJ DAV SEN. SEC. PUBLIC SCHOOL, HARIPURA 

Class-6th (Assignment) 

Date- 30.08.2025 
Instructions: Dear students, we are sending you homework. You have to solve this work in 

your notebook in a neat and clean way. You have to submit this work after the opening of 

school to your subject teacher. 

English 

Q.1 Write down character sketch of the white elephant.                                                               (3Marks) 

Ans. The white elephant lived in Himalaya Mountains. He was very noble and kind. He was very helpful. 

He loved his mother very much. He helped the forester to reach his city Benaras but he was betrayed by the 

forester. King’s men put him in prison due to cunning and greedy forester. 

Q.2 Gandhiji confessed his guilt to his father. Give reason. How did he make the confession?  Explain the 

purest type of repentance.                                                                                                                (3Marks) 

Ans. Gandhiji confessed his guilt to his father because he realised that stealing is a bad act. He confessed it 

by writing a confession note. According to Gandhiji, a clean confession combined with a promise never to 

commit the sin again is the purest type of repentance. 

Q.3 Write down a paragraph on the topic ‘Joy and Thrill in Recess Period’.                        (5Marks) 

Joy and Thrill in Recess Period 

We have eight periods in all. There is a recess period after the first four periods. It is the happiest period for 

the students and teachers alike. They all get tired of learning and teaching for four periods. When the peon 

strikes the bell of recess all come out of their classes smiling and talking.  The students jump and cry with joy. 

The students enjoy the recess period in different ways. Some go to drink water or take refreshment from 

canteen, others gossip with their friends. The school canteen is overcrowded. Some go to the swings and enjoy 

there. There are some who sit in the classrooms and do their pending work. Our teachers gossip, read and 

laugh in the staff room. Some of them enjoy tea. Soon the peon strikes the end of the recess period and we 

start our studies again. 

 

Hindi  

1. अपने मोहल्ले में वर्षा के कषरण एकत्रित हुए जल की ओर नगर त्रनगम के स्वास््य अधिकारी का ध्यान दिलवान ेके धलए 

पत्र धलखें।(5 अंक) 

       स्वषस््य अत्रिकषरी, 

      नगर धनगम,  

अबोहर।  

 त्रवर्य- जल-भरषव की समस्यष हतेु पि। 

आदरणीय महोदय,  

                        धनवेिन यह ह ैदक मैं सूरज नगरी का धनवासी ह।ं यह क्षेत्र सफाई की िधृि से पूरी तरह उपेधक्षत ह।ै वर्ाा के 

दिनों में तो इसकी और भी बरुी हालत हो जाती ह।ै इन दिनों सभी गधलयों में वर्ाा का जल भरा हुआ ह।ै नगर धनगम इस ओर 

कोई ध्यान नहीं ि ेरही ह।ै इस जल भरषव के कारण आवागमन में ही कठिनाई नहीं होती बधकक बीमारी फैलने का भी खतरा 



रहता ह।ै हमारे मोहकले के बच्चों और बुजुगों का बाहर धनकलना भी मुधककल हो गया ह।ै आपसे धनवेिन ह ैदक आप स्वय ंएक 

बार आकर इस जल  भरषव को िखेें। तभी आप हमारी कठिनाई को समझ पाएगं।े इससे पहले की कोई भयंकर बीमारी फैले, 

उससे पहले कृपया इस क्षेत्र के जल धनकास का  प्रबंि करें।  

आशा ह ैदक आप मेरी प्रार्ाना की तरफ ध्यान िेंग।े  

  सिन्यवाि    

  नाम ------. 

ददनषांक-30/08/2025 

 2. "सांगत्रत कष प्रभषव" त्रवर्य पर एक कहषनी 100 से 120 शब्दों में त्रलखें। (5 अंक) 

उत्तर. एक छोटे से नगर में एक अमीर व्यधि रहता र्ा। उसका इकलौता पुत्र र्ा जो बहुत ही होनहार र्ा। उसका नाम आदित्य 

र्ा। धवद्यालय के सभी धशक्षक आदित्य को बहुत पसंि करते र्े क्योंदक वह आज्ञाकारी होने के सार्-सार् पढाई में भी बहुत 

अच्छा र्ा। उसकी कक्षा में कुछ ऐसे बच्च ेभी पढते र् ेधजनकी  आितें खराब र्ी। न जाने कैसे िीरे-िीरे आदित्य की धमत्रता उन 

बच्चों के सार् हो गई। अब वह भी उन बच्चों की तरह धवद्यालय से भागने लगा। उसे कक्षा छोड़कर जाना अच्छा लगने लगा। 

वह पहले की तरह धवद्यालय तो आता लेदकन बीच में ही धवद्यालय से बाहर धनकल कर उन धमत्रों के सार् बाजार घूमने चला 

जाता। उसे धसगरेट पीने की लत लग गई थी। उसके धपता इस बात से बेखबर र्े। एक दिन आदित्य के धपताजी दकसी काम से 

बाजार धनकल ेतो उन्होंने िखेा के आदित्य कुछ बच्चों के सार् पेड़ के नीच ेबैिकर धसगरेट पी रहा ह।ै पहले तो उन्हें अपनी आंखों 

पर धवश्वास नहीं हुआ, ककंतु पास जाकर िखेा तो समझ गए दक आदित्य अब बुरी संगधत में पढ चुका ह।ै अपने धपता को सामन े

खड़ा िखेकर आदित्य घबरा गया। धबना कुछ कह ेवह अपने धपता के सार् चल पड़ा। रास्ते में उन िोनों में कोई बातचीत नहीं 

हुई। आदित्य अब समझ चुका र्ा दक उसने अपने धपता को बहुत कि पहुचंायष ह।ै घर जाकर उसने अपने धपता से क्षमा मांगी 

और उन गलत संगत वाल ेिोस्तों का सार् छोड़ िनेे का प्रण धलया। उसे अब समझ आ गया र्ा दक बुरे लोगों के सार् रहकर 

कुछ भला नहीं हो सकता। 

 

Punjabi  

ਪ੍ਰ 1. ਰੈਡਕ੍ਰਾਸ ਸੰਸਥਾ ਦੀ ਸਥਾਪ੍ਨਾ ਕਕ੍ਸ ਨੇ ਕ੍ੀਤੀ? ਰੈਡਕ੍ਰਾਸ ਸੰਸਥਾ ਦਾ ਮ ੁੱਖ ਉਦੇਸ਼ ਕ੍ੀ ਹੈ?(2) 

ਉ . ਰੈਡਕ੍ਰਾਸ ਇਕ੍ ਅੰਤਰਰਾਸ਼ਟਰੀ ਸੰਸਥਾ ਹੈ। ਇਸ ਦੀ ਸਥਾਪ੍ਨਾ ਮਹਾਨ ਮਾਨਵਤਾ ਪ੍ਰੇਮੀ ਜੀਨ ਹੈਨਰੀ ਕਡਊਨੇਟ ਨੇ ਕ੍ੀਤੀ।ਇਸ ਦਾ 

ਮ ੁੱਖ ਉਦੇਸ਼ ਰੋਗੀਆਂ ਜ਼ਖਮੀਆਂ ਅਤੇ ਯ ੁੱਧ ਦੌਰਾਨ ਬੰਦੀਆਂ ਦੀ ਦੇਖਭਾਲ ਕ੍ਰਨਾ ਹੈ। 

ਪ੍ਰ 2. ਬੁੱਕਿਆਂ ਨ ੰ  ਕਸ਼ੰਗਾਰਨ ਲਈ ਅਤੇ ਲ  ਤੋਂ ਬਿਾਉਣ ਲਈ ਦਾਦੀ ਮਾਂ ਕ੍ੀ- ਕ੍ੀ ਕ੍ਰਦੀ ਹੈ? (2) 

ਉ. ਦਾਦੀ ਮਾਂ ਬੁੱਿੇ ਨ ੰ  ਕਸ਼ੰਗਾਰਨ ਲਈ ਉਸ ਦੀਆਂ ਅੁੱਖਾਂ ਕਵੁੱਿ ਸ ਰਮਾ ਪ੍ਾਉਦਂੀ ਹੈ। ਉਸ ਨ ੰ  ਪ੍ਾਊਡਰ ਲਾਉਦਂੀ ਹੈ ਅਤੇ ਨਜ਼ਰ ਤੋਂ 

ਬਿਾਉਣ ਲਈ ਉਸ ਤੋਂ ਕਮਰਿਾਂ ਵਾਰ ਕ੍ੇ ਸ ੁੱਟਦੀ  ਹੈ। ਦਾਦੀ ਮਾਂ ਆਪ੍ਣੇ ਬੁੱਕਿਆਂ ਨ ੰ  ਲ  ਤੋਂ ਬਿਾਉਣ ਲਈ ਆਪ੍ਣੀ ਿ ੰਨੀ ਦਾ ਪ੍ੁੱਲ  

ਕਦੰਦੀ ਹੈ ਅਤੇ ਆਪ੍ਣੇ ਪ੍ੁੱਲ  ਦੀ ਛਾਂ ਕਦੰਦੀ ਹੈ।  

ਪ੍ਰ 3. ਰਾਜੇ ਦੀ ਪ੍ਰਸੇ਼ਾਨੀ ਦਾ ਕ੍ੀ ਕ੍ਾਰਨ ਸੀ? ਇਸ ਪ੍ਰੇਸ਼ਾਨੀ ਦੇ ਹੁੱਲ ਲਈ ਕ੍ੀ ਕ੍ੀਤਾ ਕਗਆ? (2) 

ਉ . ਰਾਜੇ ਦੀ ਪ੍ਰੇਸ਼ਾਨੀ ਦਾ ਕ੍ਾਰਨ ਇਹ ਸੀ ਕਕ੍ ਉਹ ਬੇ ਔਲਾਦ ਸੀ। ਉਸ ਦੇ ਘਰ ਕ੍ੋਈ ਵੀ ਔਲਾਦ ਨਹੀ ਂਸੀ। ਇਸ ਪ੍ਰੇਸ਼ਾਨੀ ਦੀ 

ਹੁੱਲ ਲਈ ਇੁੱਕ੍ ਜੋਤਸ਼ੀ ਨ ੰ  ਬ ਲਾਇਆ ਕਗਆ ਅਤੇ ਜੋਤਸ਼ੀ ਨੇ ਦੁੱਕਸਆ ਕਕ੍ ਜੇ ਰਾਜਾ ਕਕ੍ਸੇ ਲੜਕ੍ੇ ਨ ੰ  ਗੋਦ ਲੈ ਲਵੇ, ਛੇ- ਸੁੱਤ ਕਦਨ 

ਉਸ ਨ ੰ  ਖ ਬ ਕਪ੍ਆਰ ਕ੍ਰੇ ਪ੍ਰ ਸੁੱਤਵੇਂ ਕਦਨ ਉਸਦੀ ਬਲੀ ਦੇ ਦੇਵੇ  ਤਾਂ ਰਾਜੇ ਦੇ ਘਰ ਲੜਕ੍ਾ ਜ਼ਰ ਰ ਪ੍ੈਦਾ ਹੋਵੇਗਾ। 



 

Maths 

2 marks questions  

 Q1. Write the successor and predecessor of 10,000 also Write the smallest and greatest 4-digit natural 

number. 

Solution: Successor = 10,000 + 1 = 10,001 ,Predecessor = 10,000 − 1 = 9,999 

smallest and greatest 4-digit natural number. 

Solution: Smallest = 1000 Greatest = 9999 

Q2 Write in the descending order 9,-8,0,-75,-79,93. 

Solution: 93,9,0,-8,-75,-79 

Q3.Write all the integer between−12 and 15 on number line. 

Solution : Make a number line write 0 in center right side positive number like 1,2,3,4 … and left of zero -1,-

2,-3,-4,….. 

Q4 Express the ratio of 40 minutes to 2 hours in simplest form. 

Solution: 2 hours = 120 minutes,    
40

120
 = 

1

3
 = 1: 3 

3 Marks Questions 

Q5 A car travels 120 km in 3 hours. Find the distance travelled in 5 hours. 

Solution: Distance in 1 hour = 120 ÷ 3 = 40 km 

Distance in 5 hours = 40 × 5 = 200 km 

Q6 Draw and label: 

(a) A line passing through two points A and B (b) A line segment  (c) A ray OP 

5 Marks Question 

Q7(a) Evaluate: (−12) − (−7)+15+(−8) 

Solution: 

= −12+7+15−8, (−12+7=−5)  

= −5+15=10 

10−8=2 

(b)A garment factory produces 33000 trousers every year, out of these, 12309 are for men and 9538 are 

for women. Find the number of trousers produced for children 

Given: Total trousers = 33,000 Men’s = 12,309 Women’s = 9,538 

Children’s trousers = Total − (Men’s + Women’s) 

Men’s + Women’s = 12,309 + 9,538 = 21,847 

Children’s = 33,000 − 21,847 = 11,153 

Answer: The factory produced 11,153 trousers for children. 

Science 



Why does the smell of perfume spread quickly in a room even if only a small amount is sprayed?    (2marks) 

Answer:- 1 The tiny particles of perfume mix with air and diffuse rapidly. 

2 This proves that particles of matter are continuously moving. 

Q2 The Earth rotates on its axis and also revolves around the Sun. What kind of motions are these?      

                 (2marks) 

Answer:- Rotation of Earth on its axis - Periodic motion (repeats every 24 hours). 

Revolution of Earth around the Sun - Periodic motion (repeats every 365 days). 

Q3  Riya dissolved sugar in water and later heated it to get sugar back. What does this activity prove about 

physical changes? (2 marks) 

Answer:-1 Dissolving sugar in water is a physical change, as no new substance is formed. 

2 Heating evaporates water and sugar is obtained back, proving that physical changes are reversible. 

Q4 A farmer mixes muddy water from a pond with alum. After some time, the mud settles down at the 

bottom.    (2 marks) 

(a) Which process is this? 

    (b)Why does adding alum speed up the process? 

Answer:- (a) This process is sedimentation. 

(b) Alum helps mud particles to stick together and settle faster (flocculation). 

Q5  Why do desert plants like cactus have spines instead of broad leaves in their shoot system?      (2marks) 

Answer:- 1. Spines reduce water loss through transpiration. 

2. They also protect the plant from grazing animals. 

S.Science 

 

Q1.  Why is democracy called a government "of the people, by the people, and for the people?"(3 marks) 

Ans. Democracy is considered the best form of government because it gives equal rights to all citizens, 

allows them to choose their representatives, and ensures freedom of expression. People participate in 

decision-making, and the government works for public welfare. It prevents misuse of power and protects 

individual rights. In this way democracy called a government "of the people, by the people, and for the 

people." 

Q2. What are the main objectives of a democratic system? (5 marks) 

Answer. (A) To solve all problems through discussion and compromise. There is no place for violence in 

democracy. 

(B). Democracy aims at social, economic and political equality. 

(C) Democracy maintains harmony and balance in the society. 



(D) Democracy helps in maintaining peace. 

(E) The ultimate objective of democracy is the well being of each individual. 

Q3. Give a brief description of the planets in our solar system. (2 marks) 

Answer. The solar system consists of eight planets moving around the Sun. These planets receive light and 

heat from the Sun. In order of their distance from the sun they are-Mercury, Venus, Earth, Mars, Jupiter, 

Saturn, Uranus and Neptune. Earth, our home planet, is the only planet which supports life due to its life 

supporting conditions. 

Q4. What are Constellations and how they look like in the sky?(2 marks) 

Answer. When we look in the clear sky at night, we see that stars appear to form different shapes and 

patterns and move from west to east. The formations may resemble animals, humans or any other object. 

The groups of stars which are recognised by their formations are called Constellations. 

 


